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Figure#1    

        Figure#2 

Let 𝑁, 𝐺 be the mid-points of 𝐴𝐶 and 𝐴𝐸respectively and 𝑂 be the circumcentre of the given 

circumcircle of ∆𝐴𝐵𝐶. 

∴  /𝑩 = /𝐴𝐵𝐶 =
1

2
/𝐴𝑂𝐶 = /𝑨𝑶𝑵. - - - #3 

𝐴𝐹||𝑂𝐿 as 𝐴𝐷 and 𝑂𝐿 are perpendicular to𝐵𝐶. 

𝐴𝐹 = 𝐴𝐺 − 𝐺𝐹 =
1

2
𝐴𝐸 − 𝐺𝐹{𝑎𝑠 𝐺 𝑖𝑠 𝑚𝑖𝑑 − 𝑝𝑜𝑖𝑛𝑡 𝑜𝑓 𝐴𝐸} = 𝐷𝐹 − 𝐺𝐹  {𝑔𝑖𝑣𝑒𝑛} = 𝐺𝐷. 

Now, 𝑂𝐺𝐷𝐿 is a rectangle as 𝑂𝐺 ⊥ 𝐺𝐷;   𝐺𝐷 ⊥ 𝐷𝐿;   𝐷𝐿 ⊥ 𝐿𝑂, implies 𝐺𝐷 = 𝑂𝐿. ∴ 𝐴𝐹 = 𝑂𝐿. 

∴ 𝐴𝐹𝐿𝑂 is a parallelogram implying 𝑨𝑶 = 𝑳𝑭 and 𝑨𝑶||𝑳𝑭. 

𝐿𝑀 =
1

2
𝐴𝐶 and 𝐿𝑀||𝐴𝐶 by Mid–Point Theorem implying 𝑳𝑴 = 𝑨𝑵 and𝑳𝑴||𝑨𝑵. 

Suppose the lines  𝐿1, 𝐿2, 𝐿3 , 𝐿4  are such that  𝐿1||𝐿2 and  𝐿3||𝐿4  but𝐿2 ∦ 𝐿3 , then the {acute or 

obtuse} angle between 𝐿1and𝐿3is same as {acute or obtuse}angle between 𝐿2and 𝐿4. 

So, angle between 𝐴𝑂 and 𝐴𝑁 equals angle between 𝐿𝐹 and 𝐿𝑀 as 𝐴𝑂||𝐿𝐹 and 𝐴𝑁||𝐿𝑀. 

∴   /𝑶𝑨𝑵 =/𝑭𝑳𝑴. 

Now, in ∆𝑂𝐴𝑁 and ∆𝐹𝐿𝑀, we’ve 

𝑶𝑨 = 𝑭𝑳 (side), /𝑶𝑨𝑵 =/𝑭𝑳𝑴 (angle), 𝑨𝑵 = 𝑳𝑴 (side). 

∴   ∆𝑶𝑨𝑵 ≅ ∆𝑭𝑳𝑴  by SAS congruency and by c.p.c.t. /𝑨𝑶𝑵 =/𝑳𝑭𝑴. - - - #4 

From #3 and #4, we’ve /𝑩 =/𝑳𝑭𝑴. 


